Geometry Part | Exam Review
Can you apply what you know?

Name MW & Block____

Date of A Day Exam: Wednesday, January 21
Date of B Day Exam: Thursday, January 22 l

1-3: Use the given figure to answer each question. [

1. What is the intersection of plane P and Plane ACD?
Ly

AC "

]
2. Name 3 collinear points.

l‘.
e
FE %G A:.;'.'.'.*'_\f\;“ -
3. How many planes can be drawn ' B‘c B .JE
through points A, B, and C? o ~55
bl e D nondollined— Iamnh' ’

4-6: Use the given segment to answer each question.

wid x 3 T
4. WY= Ll'o . -18 -10 4"
[22-(A8)) = [22418] = (4ol
g doai wy. -e+2L= U
5. Find the midpoint of WY l@___i_, 7 :@

6. If Xis the midpoint of WT , find the coordinat .
-Lﬁl’rx -0 -1Btk=-Z0 X=-2)

Y
22

7-12: Use the given points to answer each. | A(-2, 5), B(-3, 8)
_ \
7. Find the midpoint of AB. "1_r5) G_I_B - -j,ﬁ

8. Find the length of AB .

v (3-cMT (89" =J (LR

10. Find the slope of a line perpendicular to AB ﬁ

1. Find the slope of a line parallel to AB @
12. Write the equation line going through A and B.
= 3R

13. Findfx and m£1.

w-1°39 =4 ::'_‘gqo 39°

14. Inthe figure, if £1and £3 are supplementary,
then Z1and are supplementary.

Snee £% = 265!

9. Findtheslopeofﬁ. 6-5 1_&._._
A

(2x-7)°
1

f 15,

o ——

16.

17: Given: E is the midpoint of HG R
EH=5x-24andEG=2x-3

17.

18. 8o°
Rirs -GN

19.

20-24: Given: p: Fido is smart; q: He can jump
Write a conditional statement for each symbolic statement.

20. p—>~q l{' FIAU (5 smadJ-Hm he CN{L'JW,‘
23.

24.

15-16: Given: AM =3x +2, MB =5x - 1,and AB = 25

A3yl M 5x~\ 8
~— 7
°° 2§ MB=
FindxandMB.  3X+1L+9K\~ -
1225 So)

- -
S

AM + E\B = &5 is an example of the

segment addition property

Find x and EG. ‘ ) }
G [p= 2(_‘] -
5

5Y-142 1)
W24 = -H

W= 21
b

In the figure, x = qO .

X =10
The complement of an angle is five times as large as the
angle. Find the degree measure of the two angles.

EXrA=90  72x
2= NG

a-~p lf Fido conpmp, Yhan he iy notsmast.

a-p t{r Frdo GM)VW\-r,‘I'kM he is smat.

—pr~qlf Frkois nof smart, then he cant jomg-

—qs-~plf Fido cant Jump Then he it
gnart .




25-29: Given: If m L n, then /3= Z4
Write each statement.

25. The hypothesis ™M +n
26. The conclusion 429;.[}*"

27. Theinverse \{' m 'Lﬂl 'W ¥3 é Z,(.‘—_

28. The converse H‘ éa ’—}‘Lt—t,‘l'l-m m,L n.
29. The contrapositive \{' é%’*é‘—l; ‘fj“"\

30. If £Z1= /2, m£1=6x~-30 and
mZURS = 5x+24,thenx_]l
bX-JorbX30= SK424

\1X—0=5X +
W= bt SQ=1Z

31. In #30, if MZURS = 90, then £1and £2

~ are CDM?!MVWV\“—QYIZX angles.

32-34: Draw a Venn Diagram for each question below.

R

32. Alldogs love bones

34. No students are seniors,

8]

35-37: Use the figure to answer each question.

35. Name a plane parallel to plane QPS.

36. Name a segment parallel to PT
Qu, Rv 4 SW
37. Name a segment skew to PT

R5,VW,7Q ,¢ vu

NGl

v

- W

38. What does y have to be for I

120°
the picnic tabletop to be

parallel to the ground?

A

For the staircase shown, what value
of x would make the railing
parallel to the runner?

39-
railing =

47°
runner —

A J

=

40-34:

40.

1.
42.

43.

44.

45.

46.

47.

48.

53+

49.

ey LA LB

Use the diagram to answer each.

10 }
\ \14 -
12 13

c d
If m£1 = 75° which angle(s) must measure 105°

for line a to be parallel to line b? / ‘_" ) L{p ) Lﬁz‘ié

Z8 and Z4 are called a‘tffnah “{fn()f angles.

(]
Ifa||band msg = 52° thenmZ14 = IlE) .

F 3

F 3

[

Ifc||d,m£6=3x+5andmL1=7x+3, thenx = '1.2-

3XAS + XD = (B Onjccbﬁub
10 =190 Ui
K?(_);Bc— 7 nlertor &5

Ifms3=80°thenm<t= fé (,CWY ¥~f)

Given: y = 3xf- 7. Write an equation that is: (j-m
3 o tor-

Ula')C* )

B. Perpendiculartoit: 4= 2—% 3
J

A. Paralleltoit:

w’
Given: m£1 = 42°, find the following:
o
ms2 = !+’L .
mZsZ3= 460 . 1

J%ﬁ (60 -2L€)

For the fence gate shown,
what value of x would make

the gate perpendie
to the ground? @

Find x.

ms4 =

ms5 =

List the angles in order from
SMALLEST to LARGEST.




50. If two sides of a triangle have lengths 7 and 13, what is

N ra“ .

In an isosceles right triangle, the measure of each acute

o
angle is ﬂi . %
If mZ3 =65, thenmZ1is I lﬁa .

51.

Name one additional pair of
corresponding parts that
need to be congruent in
order to prove that

ASIP =AMKQO by SAS.

PR
200 »

64. If AWIN = ALUV, mZW = 38, m£V =102, and

63.

52. mZl=7x +5, the&find the value of x
045 W s\ A oLt flﬁ?{gg
. ‘ / o X +145=
53. In an equilateral triangle, the measure of each angle w (3B N L \ ’] -

is

54-57: Do the 3 side lengths form a triangle? Show work to
justify your answer.

54. 1,1,and 3 \'H ?3 NO
1,2,and 3 H‘Z 173 NO

55.

6. 1,2,and24 141724 1Y)
57. 7,8,and 17 (H'S 'F rl No
58. Which two cities are farthest apart?

London

London § Madrid4
bl :?'?J a,:,,.Hulargul'
Mﬂ\( (156"

59. Inisosceles triangle DEF, DE = DF. If DE = 2x + 14,
DF = 5x -1, and EF = 2x + 3, then the perimeter of

triangle DEF is . DE‘ZCS ‘H"‘I"’
,‘\qﬁ R 5%=1  DF=5(s)-1=1
I ll;r: %3»2;% Bp=25)th= 13
¢ g Et
e | c-x & &Iﬁf@
60. What is the approximate length of AC?

Xq'Jf 8.1
X4 > UBY
K=k a

ke P

If AIGH = AKUJ, then ZH is congruent to

X

8in.

221in.

L] .

61.

62. In APBL, whalt/is the included angle for BL and PL 2

M

65-70: Determine which postulate or theorem w
the triangles congruent (5SS, SAS, ASA, AAS, or HL).

AN Nt

69.

71-74: Draw a rough sketch of each construction:

71. Anangle bisector.

72. A perpendicular bisector.

73.- Aline perpendicular to a segment
from a point not on the line.

NS

X

74. Aline perpendicular to a segment
from a point on the line.

~

T zy
=



75. If quadrilateralABC[lis similar to quadrilateral EFG‘lj,

hen what is m£D? E
C 80° ”
o 125
80°
A B

76. 1f ST!IPQ , find x.

Azl
|

4 1o .
lw-ﬂi /p

77. 1f5:8 =10: x, then what is the value of x?

9-10 5X=80
E s

78. Given the 2 similar quadrilaterals, find the scale factor,
and then find x and z. 18

H

12

80. If AEFD ~ ASTR, then ADEF ~ ‘;R T

| 85. If AB=CD, then AB +10=CD + 10 AM‘HOY\

o .
81. If 2J= M, then AJKN - M LN Find x. ]

©-5 i |
x ZO 8 15 \ 20 .J
IYX: w 12 X
‘ “
L
82. Given: Z=ﬂ Solve for x.

5(x+1)= 50
5X ’g_l() > S0

83. Asix foot man casts a four foot shadow. Atthe same
time, a monument casts a 24 foot shadow. How tallis

the monument? :'_q:
¥ 77
Yy =14

' 2 4

84-90: Write what property is represented by the problem.

84. 1fAB=CD, thenAB-2=CD-2 I frachion

86. If 3(4x -5), then 12x - 15 Dfﬂﬁbﬂhw qu:n’fv
87. Ifa=b,thenb=a flﬁmmd‘ho

88. Ifa=b,andb=c,thena=c TrBYlSIﬁVC

89. DA=DA Qe 'Hﬂx.] ve

90. If AB +CD = EF, and AB = 9, then 9 + CD = EF

Substituhion

-~

If you do this exam review with all diligence, and ask questions during the next block, then you will be
prepared for your exam and have a good chance of doing well on itl You can do thisl ©



